May 25, 2020
Hello Grade 7!
I am going to continue reviewing outcomes that we have already completed throughout the year for the next few weeks of home learning.  For the students that followed along and completed the assigned work, thank you!   If you are just visiting and going to try some Math- great.  There will be no more mental math for the year. [image: ]

  *Please send me ANY questions about anything we are doing this week! 
Monday – Integers – adding, using tiles
Tuesday – Integers – adding
Wednesday – Integers - subtraction, using tiles
Thursday – Integers - subtraction
Friday – a “mini” assignment for review [image: ]

*Remember, do what you are comfortable with.  Do a little or it all, as long as you are doing something to keep your math skills fresh 


Monday
Example (in case you need a review)
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Tuesday 
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Wednesday
Review (if you need an example)
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Second example:
[image: ]


[image: ]

[image: ]

Thursday
Remember to ADD the OPPOSITE:
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Friday
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Another week of home learning complete!  Now that the nice weather is here, I hope you are enjoying some outdoor activities!  Summer will be here before you know it!  Have a great week     
[image: ]
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8. Copy and complete.
a) (+5)+ 0 =+8 b) O+ (-3)= -4 Q (+3)+ 0= +1
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We can use tiles to subtract: (+5) — (+9)
Model +5.

There are not enough tiles to take away +9.
To take away +9, we need 4 more yellow tiles.

We add zero pairs without changing the value.
Add 4 yellow tiles and 4 red tiles. They represent 0.

By adding 0, the integer the tiles represent has not changed.
Now take away the 9 yellow tiles.
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Since 4 red tiles remain, we write: (+5) — (+9) = —4
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a) (=2) - (-6)
Model —2. . .

There are not enough tiles to take away —6.
To take away —6, we need 4 more red tiles.

We add zero pairs without changing the value.
Add 4 red tiles and 4 yellow tiles.

Now take away 6 red tiles.

Since 4 yellow tiles remain, we write: (—2) — (—6) = +4
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2. Use tiles to subtract.
a) (=1) — (-4) b) (+3) — (+8) o (=4) = (=11)
d) (+7) = (+8) e) (—4) — (-6) f) (+1) = (+10)
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10. When you add two positive
integers, their sum is always a
positive integer.

When you subtract two positive
integers, is their difference always
a positive integer? Explain.




image11.png
5. Subtract.
a) (+4) = (+5) b) (—3) = (+5) Q (=4) — (+3)
d) (=1~ (-8 e) (+8) — (-2) f) (+4) - (-7
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o. [Assessment Focus) Use integers

Write a subtraction question that would give each answer.
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a) +2 b) -3 c +5 d) -6
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1. Evaluate. Use coloured tiles.
Record your work.
a) (+5) + (—8) b) (=3) = (+7) Q (=9 + (-1
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3. Without calculating the sum, how can you tell if the
sum of two integers will be:
a) zero? b) negative? €) positive?
Include examples in your explanations.
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4. Represent each sentence with

integers, then find each sum.

a) The temperature was —6°C,
then rose 4°C.

b) Surinder withdrew $25,
then deposited $13.

¢) A stock gained $15,
then lost $23.

d) A submarine was 250 m below
sea level, then ascended 80 m.
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11. Take It Further Copy each integer pattern.
Write the next 4 terms.
What is the pattern rule?

a) +6,+2,-2,... b) —3,—1,+1,...
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» To add a negative integer
and a positive integer: (—6) + (+9)
We can model each integer with tiles. Circle zero pairs.

elelslslsle)s = =

There are 6 zero pairs.
There are 3 yellow tiles left.
They model +3.

So,(=6) + (+9) = +3
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1. What sum does each set of tiles model?
Write the addition equation.
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3. Use coloured tiles to represent each sum. Find each sum.
Sketch the tiles you used. What do you notice?
a) (+2) + (-2) b) (—4) + (+4) Q) (+5) + (=5)
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5. Add. Write the addition equations.
a) (+4) + (+3) b) (=7) + (+5) Q (=4 + (-5
d) (+8) + (=1) e) (—10) + (—6) f) (+4) +(-13)




